

# Converting Fahrenheit to Celsius (G)

Estimate or convert the temperatures.

$-51^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-5^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-84^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-18^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-15^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$91^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-29^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$53^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$52^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-76^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-67^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$9^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$48^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-51^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$75^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-18^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$22^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$69^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$12^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-40^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$58^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$32^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$100^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$87^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-54^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$23^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$17^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$83^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$46^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-86^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$